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25.4 mm H h
n mm mm mm
27 0.941 0.815 0.753
18 1.411 1.222 1.129
14 1.814 1.571 1.451
11.5 2.209 1.913 1.767
8 3.175 2.750 2.540
3
3.1 2, N
2
25.4 mm I, L,
)
d=D, d,=D,
n d=D mm mm
mm mm
mm
% 27 7.895 7.142 6.389 4.064 432 2.822 3
% 27 10.242 9.489 8.736 4.102 4.36 2.822 3
Y 18 13.616 12.487 11.358 5.786 4.10 4.234 3
% 18 17.055 15.926 14.797 6.096 4.32 4.234 3
1% 14 21.223 19.772 18.321 8.128 4.48 5.443 3
% 14 26.568 25.117 23.666 8.611 4.75 5.443 3
1 11.5 33.228 31.461 29.694 10.160 4.60 6.627 3
1% 115 41.985 40218 38.451 10.668 4.83 6.627 3
1% 115 48.054 46.287 44.520 10.668 4.83 6.627 3
2 115 60.092 58.325 56.558 11.074 5.01 6.627 3
2% 8 72.699 70.159 67.619 17.323 5.46 6.350 2
3 8 88.608 86.068 83.528 19.456 6.13 6.350 2
3% 8 101.316 98.776 96.236 20.853 6.57 6.350 2
4 8 113.973 111.433 108.893 21.438 6.75 6.350 2
8 140.952 138.412 135.872 23.800 7.50 6.350 2
6 8 167.792 165.252 162.712 24.333 7.66 6.350 2
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